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Questions

The set {x} x€ Aand x¢ B}is................

The complement ofz is...........

The complement ofU is................

If A€ Band BE a, then

if AN b =2, then set Aand B are ............

The relation {(1,2),(2,3),(3,3)(3,4)} is.

Point (-1,4) , lies in the quadrant.

The Range of R

={(1,3),(2,2),(3,1)(4,4)} is.

The domain of R ={(0,2),(2,3),(3,3)(3,4)} is.

Answers Choice

A.AUB
B.ANB
C.A-B
D.B-A
AU
B.A

C. A<sup>c</sup>
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Onto function

Into function

Not a function
One-One function.
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If number of elements in se Ais 3 and in setBis
2, then number or binary relations in Ax B is.

if A and B are disjoint sets , then AU B is equal
to.

(AUB)UC is equal to

If AS B then A - B is equal to
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A. AN (BUC)
B. (AUB)NC<p class="MsoNormal"><!--[endif]--><o0:p></0:p></p>

D. AN (BNC)
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